
 

 

 

 

 

 

 
TNPSC GROUP IV EXAMINATION 25.08.2013 

GENERAL STUDIES – SUBJECTWISE CATEGORISED 
 

ANCIENT INDIA GROUP IV 2013 
 

1. rhpahd tpilia nghUj;Jf: 
a. yhh;fhdh khtl;lk;   1. F[uhj;  
b. fhspgq;fd;    2. gQ;rhg; 
c. Nyhj;jy;    3. ,uh[];jhd;  
d. `ug;gh     4. rpe;J  
   a b c d 
 A.  3 1 2 4  
 B.  4 3 1 2  
 C.  1 2 4 3  
 D.  2 4 3 1  
Match the following: 
a. Larkana District   1. Gujarat 
b. Kalibangan    2. Punjab 
c. Lothal     3. Rejasthan  
d. Harappa    4. Sind 
   a b c d 
 A.  3 1 2 4  
 B.  4 3 1 2  
 C.  1 2 4 3  
 D.  2 4 3 1  
 

2. gl;bay; I-apypUe;J gl;bay; II-ia nghUj;Jf: 
   gl;bay; I    gl;bay; II 
   (fhyk;)   (fiyghzp) 
 a. F~hzh;fs;    1. jpuhtplg; ghzp 
 b. Fg;jh;fs;     2. Ntruh ghzp 
 c. rhSf;fpah;fs;    3. efuh ghzp 



 

 

 d. Nrhoh;fs;     4. fhe;jhuf; fiy ghzp  
   a b c d 
  A. 4 3 2 1    
  B. 4 2 1 3  
  C. 3 2 1 4   
  D. 3 1 2 4 
Match the following with suitable options: 
  List I    List II 
  (Age)   (Art style) 
a. Kushanas   1. Dravidian style  
b. Guptas    2. Vesara style 
c. Chalukyas   3. Nagara style 
d. Cholas    4. Gandhara Art style 
   a b c d 
  A. 4 3 2 1    
  B. 4 2 1 3  
  C. 3 2 1 4   
  D. 3 1 2 4 

 
3. rhpahf nghUj;Jf: 

   gl;bay; I     gl;bay; II 
a. Kjyhk; ,uhN[e;jpu Nrhod;  1. gpuk;kfphp 
b. fhuNtyh;      2. myfhghj;  
c. mNrhfh;      3. `jpFk;gh  
d. rKj;jpuFg;jh;     4. khy;ghb 
   a b c d 
  A. 2 4 3 1  
  B. 3 1 2 4  
  C. 4 3 1 2  
  D. 1 2 4 3  
 Match the following: 
   List I    List II 
 a. Rajendra Chola I   1. Brahma Giri  
 b. Karavela    2. Allahabad 
 c. Ashoka    3. Hathi Kumbha 
 d. Samudra Gupta   4. Malpadi  
   a b c d 
  A. 2 4 3 1  
  B. 3 1 2 4  



 

 

  C. 4 3 1 2  
  D. 1 2 4 3 

 
4. vOj;jhsh;fisAk; mth;fspd; Gj;jfq;fisAk; nghUj;jp rhpahd 

tpilia Njh;e;njLf;fTk;: 
 a. khy;Fb Nl];    1. nfsby;ah 
 b. `h;~h rhpj;jh    2. Rthkp jahee;jh;  
 c. mh;j;j rh];jpuk;    3. Mh;.Nf. ehuhaz; 
 d. rj;ah;j; gpufh~;    4. ghdh gl;lh 
 
 
  a b c d 
A.  3 4 1 2  
B.  2 3 4 1 
C.  4 1 2 3  
D.  3 1 4 2  

   Match the authors with books and choose the right option:  
 a. Malgudi Days   1. Kautilya 
 b. Harsha Charita   2. Swami Dayanand 
 c. Arthasasthra   3. R.K. Narayan  
 d. Satyarth Parkash  4. Bana Bhatta 

 a b c d 
A.  3 4 1 2  
B.  2 3 4 1 
C.  4 1 2 3  
D.  3 1 4 2  

 
5. gpd;tUk; ,yf;fpag; gilg;Gfis fhy thpirg;gLj;Jf: 

I. Kj;uh uhf;~rk; 
II. kj;jtpyhr gpufrdk;  
III. kpypd;jgd;`h 
IV. mh;j;j rh];jpuk;  
A. I, II, IV, III   B. III, IV, I, II 
C. IV, I, III, II  D. IV, III, I, II 
Arrange the following literary works in Chronological order: 
I. Mudra rakshasa 
II. Mattavilasa Prakasana 
III. Milindapanho 
IV. Arthasastra 
A. I, II, IV, III   B. III, IV, I, II 



 

 

C. IV, I, III, II  D. IV, III, I, II 



 

 

BOTANY - GROUP IV 2013 
 

6. cuk; gw;wpa fPo;fz;l $w;Wfspy; rhpahdit vit? 
I. mJ tpiy Fiwthf fpilf;f Ntz;Lk;  
II. mJ jhtuq;fshy; vspjpy; cwpQ;rj;jf;f tifapy; ,Uf;f 
Ntz;Lk;  
III. mJ ePhpy; vspjpy; fiuaf;$lhJ. 
A. I kw;Wk; II   B. II kw;Wk; III  
C. I kw;Wk; III    D. III kl;Lk;  
Which of the following statements about ‘Fertilizer’s is TRUE? 
I. It should be available in low cost.  
II. It should be easily assimilated by plants. 
III. It should not dissolve readily in water 
A. I and II   B. II and III  C. I and III   d. III only  
 

7. fPNo nfhLf;fg;gl;Ls;s Ntjpg; nghUl;fspd; FOkj;jpw;Fg; 
nghUe;jhjijf; fz;lwp: 
BHC, DDT, 2, 4-D, A+hpah 
A. BHC   B. DDT   C. 2,4-D  D. A+hpah  

     Identify the odd one from the group of chemicals given below: 
BHC, DDT, 2, 4-D, Urea 
A. BHC   B. DDT   C. 2,4-D  D. Urea  

 
8. ,e;jpahtpy; gRik Gul;rpia mwpKfg;gLj;jpa mikg;G  

A. ICAR  B. ICMR  C. ISRO  D. SCIR 
The organisation which introduced Green Revolution in India is 
A. ICAR  B. ICMR  C. ISRO  D. SCIR 

 
9. xspr;Nrh;f;ifapd; NghJ ntspaplg;gLk; thA vJ? 

A. fhh;gd;-il-Mf;i]L   B. iel;u[d;  
C. i`l;u[d;     D. Mf;rp[d;  
Name the gas which is evolved during photosynthesis 
A. Carbondioxide    B. Nitrogen  
C. Hydrogen     D. Oxygen 
 

10. ghrpfis Ma;e;jwpAk; mwptpaypd; ngah; vd;d? 
A. /gprpahy[p  B. /igf;fhy[p C. ikf;fhy[p  D. Nghkhy[p 
What is the study of Algae called? 
A. Physiology    B. Phycology  

C. Mycology    D. Pomology  



 

 

 

ECONOMICS  - GROUP IV 2013 
 

11. Efh;Nthhpaypd; je;ij vd fUjg;gLgth; ahh;? 
A. k`hj;kh fhe;jp   B. ,e;jpuh fhe;jp 
C. [hd; F. nfd;db  D. uhy;g; Nulh;  
Who is the Father of Consumer Movement? 
A. Mahatma Gandhi B. Indira Gandhi 
C. John F.Kennedy D. Ralph Radar 
 

12. ,e;jpahtpy; gzf; nfhs;ifia tbtikg;gJ ahh;? 
A. ,e;jpa epjpaikr;rh;  B. hprh;t; ghq;f; Mg; ,e;jpah 
C. ,e;jpa gpujkh;   D. gd;dhl;L epjp epWtdk;  
Who frames the monetary policy of India? 
A. Finanace Minister of India B. Reserve Bank of India 

C. Prime Minister of India  D. International Monetary fund 

 
13. gl;bay; I-y; gl;bay; II-cld; xg;gpl;L ghh;j;J rhpahf nghUj;jTk;. 

fPo;fz;ltw;wpypUe;J rhpahd tpilia Njh;e;njLf;fTk;: 
  gl;bay; I      gl;bay; II 
a. Njrpa fpuhkGw Ntiytha;g;G jpl;lk;  - 1. 1985 
b. [t`h; Nuh[fh; Nah[dh   - 2. 1993 
c. ,e;jpuh Mth[; Nah[dh    - 3. 1980 
d. gpujk ke;jphp Nuh[fh; Nah[dh   - 4. 1989  
  a b c d 
A.  4 1 3 2  
B.  3 4 2 1  
C.  3 4 1 2  
D.  1 2 3 4 
Match List I with List II and choose the correct option using the 
coding scheme given below: 
   List I        List II 
 a. National Rural Employment Programme  1. 1985 
 b. Jawahar Rozgar Yojana     2. 1993 
 c. Indira Awaz Yojana      3. 1980 
 d. Prime Minister’s Rozgar Yojana    4. 1989 
  a b c d 
A.  4 1 3 2  
B.  3 4 2 1  



 

 

C.  3 4 1 2  
D.  1 2 3 4 

 
 

14. fPo;f;fz;l thf;fpaq;fisf; ftdp: 
$w;W (A) : %d;whk; Ie;jhz;L jpl;;lk; epiwNtw;wg;gl;l gpwF jpl;l  
           tpLKiwf;fhyk; gpd;gw;wg;gl;lJ.  
fhuzk; (R) : %d;whk; Ie;jhz;L jpl;lk; ,e;jpah-rPdh NghhpdhYk;> 
,e;jpah-ghfp];jhd; NghhpdhYk; ghjpf;fg;gl;lJ.  
,tw;Ws; vJ rhp vd jPh;khdpf;fTk;: 
A. (A) kw;Wk; (R) jtwhdit   B. (A) jtW kw;Wk; (R) rhp  
C. (A) rhp kw;Wk; (R) jtW    D. (A) kw;Wk; (R) 
rhpahdit 
Consider the following statements: 
Assertion (A) : After the completion of the third five year plan 
‘Plan Holiday’  
               was given 
Reason (R)    : The third five year plan was affected by India - 
China war  
                                  and India – Pakistan wars.  
Select your answer according to the coding scheme given below: 
A. Both (A) and (R) are false   B. (A) is false and (R) is true 
B. (A) is true and (R) is false   D. Both (A) and (R) are true 

 

 
15. Ie;jhz;Lj; jpl;lj;jpid tFg;gJ 

A. Njrpa tsh;r;rpf; FO   B. gpujk mikr;rhpd; mYtyfk;   
C. If;fpa ehLfs; rig   D. jpl;lf; FO 
Framing of 5 year plans: 
A. National Development Council   B. Prime Minister’s Office  
C. United Nations Organisation   D. Planning Commission  

 
16. nghUj;Jf: 

 a. [tfh; fpuhk Ntiytha;g;Gj; jpl;lk;  1. 2000 – 2001 
 b. ehl;L r%f cjtpj; jpl;lk;    2. 1993 
 c. Ntiytha;g;G cWjpj;jpl;lk;    3. 1999 
 d. gpujkhpd; Ntiytha;g;Gj; jpl;lk;   4. 1995 
   a b c d 
  A. 3 1 2 4  
  B. 4 3 1 2 



 

 

  C. 3 4 2 1  
  D. 2 3 1 4 
 Match the following: 
a. Jawahar Gram Samriddhi Yojana   1 2000 - 2001 
b. National Social Assistance Programme  2. 1993 
c. Employment Assurance Scheme   3. 1999 
d. Pradhanmantri Gramodaya Yojana   4. 1995 
   a b c d 
  A. 3 1 2 4  
  B. 4 3 1 2 
  C. 3 4 2 1  
  D. 2 3 1 4 

 
17. me;epaid ntspNaw;W: 

,e;jpahtpd; etuj;d epWtdq;fs;  
A. BHEL   B. BPCL   C. IOL  D. IPCL  
Take the Navaratna Companies 
India’s Navaratna Companies  
A. BHEL   B. BPCL   C. IOL  D. IPCL  

 



 

 

GEOGRAPHY - GROUP IV 2013 
 

18. gpd;tUtdtw;Ws; nghUe;jhjJ vJ? 
A. Ntshz; gaph;fs;     - gRik Gul;rp 
B. Kl;il kw;Wk; Nfhop tsh;g;G    - ntz;ik Gul;rp  
C. fly;rhh; nghUl;fs;    - ePy Gul;rp  
D. Njhl;lf;fiy     - jq;f Gul;rp 
Which of the following is incorrectly matched? 
A. Agricultural crops   - Green Revolution  
B. Eggs and poultry   - White Revolution  
C. Marine Products   - Blue Revolution  
D. Horticulture    - Golden Revolution  

 
19. fPNo nfhLf;fg;gl;litfspy; ,Ue;J rhpahd gjpiy 

Njh;e;njLf;fTk;: 
njhlh;r;rpahd ,bAld; $ba Gaypd; tpisthy; Vw;gLtJ 
A. epyr;rhpTk; nts;sKk;   B. Mopg; Nguiyfs; 
C. epyeLf;fk;     D. vhpkiy ntbg;G 
 Choose the correct answer from the following: 
These occur as a result of continuous thunder storming. 
A. Landslides and floods   B. Tsunami 
C. Earthquake     D. Volcanic eruption  

 
 

20. gl;bay; I-y; cs;s tdtpyq;Ffspd; ruzhyaq;fis gl;bay; II-y; 
cs;s ,Ug;gplq;fSld; nghUj;Jf: 
   gl;bay; I      gl;bay; II 
 a. tpuhypkiy     1. Nkw;Fj; njhlh;r;rp kiy  
 b. Kf;FUj;jp Njrpa G+q;fh   2. fhQ;rpGuk; khtl;lk;  
 c. ,e;jpuhfhe;jp td caphp ruzhyk;   3. ePyfphp kiy  
 d. Ntle;jhq;fy; gwitfs; ruyzhyak;  4. jpUr;rp khtl;lk;  
   a b c d 
  A. 3 1 2 4  
  B. 4 3 1 2  
  C. 1 2 4 3  
  D. 2 4 3 1  
 Match the Wild Life Sanctuaries in List I with their location in List 
II: 
   List I      List II  



 

 

 a. Viralimalai      1. Western ghats 
 b. Mukkurthi National Park  2. Kencheepuram district  
 c. Indira Gandhi Wild Life Sanctuary  3. The Nilgiris 
 d. Vedanthangal      4. Trichy district  
   a b c d 
  A. 3 1 2 4  
  B. 4 3 1 2  
  C. 1 2 4 3  
  D. 2 4 3 1  

 
21. I. re;jpuid vhpel;rj;jpuk; vd miof;fyhk;. 

II. re;jpuid Jizf;Nfhs; vd miof;fyhk;. 
III. re;jpuid FUq;Nfhs;fs; vd miof;fyhk; 
IV. re;jpuid thy; el;rj;jpuk; vd miof;fyhk;.  
A. I kw;Wk; III kl;Lk; rhp  B. II kl;Lk; rhp  
C. II kw;Wk; IV rhp    D. IV kl;Lk; rhp  
I. Moon is called as Meteroroids. 
II. Moon is called a Satellite. 
III. Moon is called a Asteroids. 
IV.Moon is called a Comet.  
A. I and III are correc t   B. II is only correct 

C. II and IV are correct   D. IV is only correct  
 

22. rhpahf nghUe;jg;glhjij fPo;fz;ltw;wpypUe;J Njh;T nra;f: 
A. gRikg; Gul;rp – Ntshz; cw;gj;jp  
B. ntz;ikg; Gul;rp – ghy; kw;Wk; ghy; nghUl;fs;  
C. rhk;gy; Gul;rp – vz;nza; tpj;Jf;fs;  
D. nghd; Gul;rp – goq;fs;  
Choose incorrectly matched. 
A. Green Revolution – Agrivultural crops 
B. White Revolution – Milk and Milk products 
C. Grey Revolution – Oil seeds 
D. Golden revolution - Horticulture 
 

23. rhpahd tpilia Njh;e;njLf;f: 
rhk;gy; epw mzpy;fs; ruzhyak; ve;j khtl;lj;jpy; cs;sJ? 
A. ePyfphp  B. rptfq;if  C. tpUJefh; D. fd;dpahFkhp  
Choose the correct answer: 
In which District Grizzled Squirrel Wild Life Sanctuary is found? 



 

 

A. Nilgris  B. Sivagangai C. Virdhunagar D. Kanyakumari 

 
24. fPo;fz;l MWfspd; ngah;fis gl;bay; I-ypUe;J gl;bay; II-ia 

nghUj;Jf: 
  gl;bay; I    gl;bay; II 
  (gioa ngah;)   (Gjpa ngah;) 
a. RJj;hp      1. [Pdhg; 
b. tpgh];     2. rl;ny[;  
c. gU~pdp     3. gpah]; 
d. m~pfpdp     4. uhtp  
  a b c d 
A.   1 2 3 4  
b.   2 4 1 3  
c.  1 4 2 3  
d.  2 3 4 1  
Match the following river names with suitable options: 
  List I     List II 
 (Ancient Name)  (New Name) 
 a. Shutudri    1. Chenab 
 b. Vipas     2. Sutlej 
 c. Parushini   3. Beas  
 d. Asikini    4. Ravi 
  a b c d 
A.  1 2 3 4  
B.  2 4 1 3  
C.  1 4 2 3  
D.  2 3 4 1  

 
25. ‘tl xspfs;’> vd;W gutyhf miof;fg;gLk; ‘mNuhuh 

NghhpNahyp];’ cUthtjw;fhd fhuzk; 
A. G+kpapdJ fhe;jg;Gyj;jpy; gpbgl;Ls;s fh];kpf; fjph; Jfs; mZ 
Nkhjy;fis cUthf;FfpwJ.  
B. JUtq;fspy;> cs;s xU tifr; rpwg;G epd;nwhsph;jy; nghUs; 
mike;jpUj;jy;  
C. #hpa kw;Wk; G+kpf;fjph; tPr;RfSf;fpilNaahd FWf;fPl;L tpisT  
D. ,it midj;Jk;  
‘Aurora Borealis’, the so called northern lights are due to  
A. the atomic collision of the trapped cosmic ray particles in the 
Earth’s magnetic field  
B. the presence of a special phosphorescent material in the poles 



 

 

C. the interference of solar and terrestrial radiations 
D. all of the above 

 
26. fg;gy; Jiwapid njhpe;njLj;J mjd; ngaiu FwpapLf: 

1. ghujPg;   2. kq;f@h;  3. nrd;id  4. nfhr;rpd;  
A. ghujPg;> nfhr;rpd;> nrd;id> kq;f@h; 
B. kq;f@h;> ghujPg;> nrd;id> nfhr;rpd; 
C. kq;f@h;> nfhr;rpd;> nrd;id> ghujPg;  
D. nfhr;rpd;> kq;f@h;> nrd;id> ghujPg;  
Identify the Seaports and name them  
1. Paradwip  2. Mangalore 3. Chennai   4. Cochin  
A. Paradwip, Cochin, Chennai, Mangalore 
B. Mangalore, Paradwip, Chennai, Cochin 
C. Mangalore, Cochin, Chennai, Paradwip 
D. Cochin, Mangalore, Chennai, Paradwip 

 



 

 

MENTAL ABILITY - GROUP IV 2013 
 

27. xU Njh;tpy; 30% khzhf;fpah; Mq;fpyg; ghlj;jpy; Njh;r;rp 
ngwtpy;iy. 40% khzhf;fpah; `pe;jpg; ghlj;jpy; Njh;r;rp ngwtpy;iy. 
,uz;L ghlj;jpYk; Njh;r;rp ngwhjth;fs; 20% vd;why; ,uz;L 
ghlj;jpYk; Njh;r;rp ngw;w khzhf;fpahpd; rjtpfpjk; vd;d? 
A. 50%  B. 20%  C. 10%  D. 60% 
In an examination 30% of total students failed in English, 40% of 
students failed in Hindi and 20% in both. Find the percentage of 
students who passed in both the subjects.  
A. 50%  B. 20%  C. 10%  D. 60% 
 

28. xU gfilapd; 3 epiyfs; fPNoj; jug;gl;Ls;sJ. 
2My; Fwpj;j gf;fj;jpw;F vjph;gf;f vz; ahJ? 
A. 5   B. 3   C. 6   D. 1 
Three positions of the same die are given. Find the number opposite 
to the side represented by 2.  
A. 5   B. 3   C. 6   D. 1 
 

29. RIVER vd;gij OFSBO vDk; FwpaPl;lhy; jug;gbd;> WATER 
vDk; FwpaPL vjidf; Fwpf;Fk;? 
A. ZDWIU   B. ZDWHU C. ZCWIV  D. ZCUJW 
If RIVER is coded as OFSBO then WATER is decoded as 
A. ZDWIU   B. ZDWHU C. ZCWIV  D. ZCUJW 

 
30. Nfs;tpf; Fwpapl;l ,lj;jpy; tUk; vz; ahJ? 

A. 9   B. 6  C. 7    D. 3 
What will come in the place of a question mark? 
A. 9   B. 6  C. 7    D. 3 
  

31. gpd;tUk; njhlh;thpirapy; jtwhd vz; vd;d? 
623, 251, 543, 356 
A. 543  B. 251  C. 623  D. 356 
Find out the wrong number in the sequence. 
623, 251, 543, 356 
A. 543  B. 251  C. 623  D. 356 
 

32. gpd;tUk; njhlh;thpirapy; jtwhd vz; vd;d? 
121, 264, 312, 462, 583 
A. 583  B. 264  C. 121   D. 312 

Find out the wrong number in the sequence.  



 

 

121, 264, 312, 462, 583 
A. 583  B. 264  C. 121   D. 312 
 

33. ABC vd;w gjpg;gfj;jpd; ,U gphpT Gj;jfq;fspd; tpw;gid 2000-
2010 (Mapuj;jpy;)  
 
2000 Kjy; 2009 tiu vj;jid Mz;Lfs; mwptpay; Gj;jfq;fs; 
fiyg; Gj;jfq;fis tpl mjpfkhf tpw;gid nra;ag;gl;lJ? 
A. 4 Mz;Lfs;   B. 5 Mz;Lfs;  C. 6 Mz;Lfs; D. 7 
Mz;Lfs;  
SALES BY TWO CATEGORY FOR ABC PRESS, 2000-2010 (in 
thousands of books) 
In how many years did the sales of science books exceed the sales of 
arts books from 2000 to 2009? 
A. 4 year  B. 5 years  C. 6 year  D. 7 years 
 

34. $l;L tl;b Kiwapy;> xU njhifahdJ ,uz;L Mz;Lfspy; 
xd;gJ klq;F Mfpd;wJ vdpy;> mjd; tl;b tPjk; ahJ? 
A. 100%  B. 200%  C. 300%  D. 150% 
At what rate percent compound interest does a sum of money 
become nine fold in 2 years? 
A. 100%  B. 200%  C. 300%  D. 150% 
 

35. RUf;Ff: 

 4 3 2x  

A. 
1

6x    B. 
1
12x    C. 

1
3x   D. 

1
4x  

Simplify: 
4 3 2x  

A. 
1

6x    B. 
1
12x    C. 

1
3x   D. 

1
4x  

 
 

36. tpLgl;l glk; ahJ? 
Find the missing block.  

 
37. fPo;fhZk; ml;ltizia ftdk; nfhs;f: 

tUlk;      : 1973–74 1987–88 1993–94 1999-
2000 
,e;jpahtpy; Vo;ikapy; cs;sth;; 
fspd; vz;zpf;if (kpy;ypadpy;) :    321    307   320    260  
ve;j tUlk;> mjd; Ke;ija tUlj;ijf; fhl;bYk; ,e;jpahtpy; 
Vo;ikapy; cs;sth;fspd; vz;zpf;if mjpfhpj;Js;sJ? 



 

 

A. 1973 – 74 B. 1987 – 88  C. 1993 – 94 D. 1999 – 2000 
Consider the following table: 
Year       : 1973 – 74  1987 – 88  1993 – 94
 1999 – 2000 
Number of Poor in India (in million)    321  307  320 
 260 
The year in which number of poor in India a sharp increase over that 
of the preceding year is  
A. 1973 – 74 B. 1987 – 88  C. 1993 – 94 D. 1999 – 2000 

 
38. 2a × 1a = 41a kw;Wk; 2b × 1b = 37b Mfpa nghUf;fy;fspy; a kw;Wk; 

b vd;gd kpif KO vz;fisf; Fwpj;jhy;> a + b =  
A. 15   B. 11   C. 7  D. 13 
In the products 2a × 1a = 41a; 2b × 1b = 37b a and b represent 
positive integers. Then a + b =  
A. 15   B. 11   C. 7  D. 13 

 
39. gpd;tUk; vz;fs; njhlh;thpirapy; nghUe;jhj vz;izf; fz;Lgpb. 

1, 144, 16, 25, 49, 81, 121, 36, 62 
A. 1   B. 49   C. 121   D. 62 
Find the odd man out in the following: 
1, 144, 16, 25, 49, 81, 121, 36, 62 
A. 1   B. 49   C. 121   D. 62 

 
40. 2011 – 2012f;fhd cyf Njapiy cw;gj;jpapy; 5 ehLfspd; gq;F: 

 
tl;lj;jpd; ikaj;jpy; E-d; tl;lf;Nfhzk;  
A. 15˚  B. 30˚   C. 54˚   D. 72˚ 
The World –Wide Tea product of 5 countries for the year 2011-2012. 
 
The angle subtended by E at the centre of the circle is  
A. 15˚  B. 30˚   C. 54˚   D. 72˚ 
 

41. A vd;gth; xU Ntiyapd; 
2

3
 gFjpia 10 ehl;fspy; nra;J 

Kbg;ghh;. mNj Ntiyapd; 
1

3
 gFjpia A nra;J Kbf;f MFk; 

ehl;fspd; vz;zpf;if 
A. 3 ehl;fs; B. 4 ehl;fs; C. 5 ehl;fs;  D. 6 ehl;fs;  



 

 

A can complete 
2

3
 part of a work in 10 days. A can complete 

1

3
 part of 

the same work in  
A. 3 days   B. 4 days   C. 5 days   D. 6 days  
 

42. Fwpg;gpl;l jdptl;b tPjj;jpy;> &. 800 MdJ %d;whz;Lfspy; &. 
956 Mf cah;fpwJ. jdptl;b tPjj;ij 4% mjpfhpg;gjhy;> 
%d;whz;LfSf;Fg; gpd; &. 800d; kjpg;G> ve;jj; njhifahf khWk;? 
A. &. 1>020.80  B. &. 1>025  C. &. 1>052  D. &. 
1>080.20  
Rs. 800 becomes Rs. 956 in 3 years at certain simple rate of interest. If 
the of interest is increased by 4%, what amount will Rs. 800 become 
in 3 years? 
A. Rs. 1,020.80  B. Rs. 1,025  C. Rs. 1,052 D. Rs. 
1,080.20 
 

43. mkyh> &gha; 6>000-j;ij xU KjyPL nra;fpd;whh;. ,jpy; 
Kjyhz;by; 4% tl;bAk;> ,uz;lhkhz;by; 5% tl;bAk;> 
%d;whkhz;by; 10% tl;bAk; fpilf;Fk; vdpy;> %d;whkhz;bd; Kbtpy; 
mkyh ngWk; njhif ahJ? 
A. &. 7>300  B. &. 7>007.2  C. &. 7>200  D. &. 
7>207.2 
Amala invests Rs. 6,000 in a bond which gives interest at 4% per 
annum during the first year, 5% during the second year, 10% during 
the third year. How much does she get at the end of the third year? 
A. Rs. 7,300  B. Rs. 7,007.2  C. 7,200  D. 7,207.2 
 

44. 2 ÷ 3 = 89, 3 ÷ 4 = 2716, 4 ÷ 3 = 649 vdpy; 1 ÷ 2 =? 
A. 24   B. 14   C. 4   D. 10 
If  2 ÷ 3 = 89, 3 ÷ 4 = 2716, 4 ÷ 3 = 649 then 1 ÷ 2 =? 
A. 24   B. 14   C. 4   D. 10 
 

45. ntt;Ntwhd 5 nghUl;fs; A, B, C, D kw;Wk; E Mfpatw;iw 1, 2, 3, 
4, 5 vdf; Fwpf;fg;gl;l ngl;bfspy; itf;f Ntz;Lk;. B kw;Wk; E 
Mfpatw;iw xd;whf itf;f KbahJ. vdpy; nghUl;fs; itf;fg;glhj 
ngl;bfspd; mjpfgl;r vz;zpf;if 
A. 1   B. 2   C. 3   D. 0 
Five distinct items A, B, C, D and E are to be placed in distinct boxes 
numbered as 1, 2, 3, 4, 5. Items B and E cannot be grouped together. 
Maximum number of boxes can be left out without items is 
A. 1   B. 2   C. 3   D. 0 



 

 

 
46. A, K, L, R kw;Wk; U vd;w Ith; xU tl;l Nkiria Rw;wp 

mkh;fpd;wdh;. U-f;F ,lg;gf;fj;jpy; KTk; kw;Wk; ATf;Fk; UTf;Fk; 
,ilapy; R-k; mkh;e;jpUe;jhy; L-f;F gf;fj;jjpy; ,UGwKk; 
mkh;e;jth;fs;  
A. K kw;Wk; A   B. U kw;Wk; A 
C. K kw;Wk; R    D. A kw;Wk; R 
Five persons A, K, L, R and U are sitting around a circular table. k is 
immediate left to U and R is between A and U, them immediate 
neighbours of L are 
A. K and A  B. U and A  C. K and R  D. A and R 
 

47. 7 kP MuKs;s xU tl;l tbt ikjhdj;ij Rw;wp ntspGwk; 7kP 
mfyj;jpy; xU ghij cs;sJ vdpy; ghijapd; gug;gsT 

___________ 
22

7

 

= 
 

 

A. 154 r.nr.kP   B. 308 r.nr.kP 
C. 462 r.nr.kP   D. 616 r.nr.kP 
A circular ground of radius 7 m has a path width 7m around it on its 
outside. The area of the path is approximately equal to ______ 

22

7

 

= 
   
A. 154 sq.m  B. 308 sq.m  C. 462 sq.m  D. 
616 sq.m 
 

48. xU Ntiyia KOikahf jdpj;jdpNa nra;J Kbf;f A, B, C 
MfpNahUf;F 12 ehl;fs;> 6 ehl;fs; kw;Wk; 3 ehl;fs; vd;f. A, B 
,UtUk; Ntiyia nra;a Muk;gpj;J kWehs; Ck; mth;fNshL 
Ntiyia nra;jhy;> me;j Ntiyia KOikahf nra;J Kbf;fj; 
Njitahd ehl;fs; 

A. 
2

2
7

  ehl;fs;   B. 
2

1
7

 ehl;fs;  C. 
1

2
7

  ehl;fs;  D. 
1

1
7

 

ehl;fs;  
A can do a work in 12 days; B in 6 days and C in 3 days. A and B start 
working together and after a day, C joins them. The total number of 
days required to complete the work is 

A. 
2

2
7

days   B. 
2

1
7

days   C. 
1

2
7

days   D. 
1

1
7

days 

 
49. 43> 91> 183 Mfpa vz;fis ve;j kpfg; nghpa vz;zhy; tFf;Fk; 

nghOJ kPjp rkkhf fpilf;Fk;? 



 

 

A. 4   B. 7   C. 9  D. 8 
Find the greatest number that will divide 43, 91, 183 so as to leave the 
same remainder in each case. 
A. 4   B. 7   C. 9  D. 8 
 

50. kPg;ngU nghJ fhuzp 15Mf ,Uf;FkhW vj;jid N[hb vz;fs; 
40f;Fk; 100f;Fk; ,ilNa ,Uf;Fk;? 
A. 3   B. 4   C. 5  D. 2 
The number of number-pairs lying between 40 and 100 with their 
H.C.F. as 15 is  
A. 3   B. 4   C. 5  D. 2 
 

51. xU tl;lkhd Njhl;lj;ijr; Rw;wp xNu Neuj;jpy; Jtq;fp A, B, C, D 
vd;gth;fs; xNu jpirapy; XLfpd;wdh;. xU Kiw Rw;wp tu A, B, C, D 
vd;gth;fs; vLj;Jf; nfhs;Sk; fhy msT KiwNa 30 epkplq;fs;> 60 
epkplq;fs;> 90 epkplq;fs; kw;Wk; 105 epkplq;fs; MFk;. Jtf;fg; 
Gs;spapy; vj;jid kzpf;F gpwF ,th;fs; kPz;Lk; re;jpg;ghh;fs;? 
A. 15 kzp Neuk;    B. 10 kzp Neuk;  
C. 21 kzp Neuk;    D. 20 kzp Neuk;  
A, B, C, D start at the same time to run around a circular garden in 
the same direction. A completes a round in 30 minutes, B in 60 
minutes, C in 90 minutes and D in 105 minutes.  
A. 15 hours  B. 10 hours  C. 21 hours  D. 20 hours  
 

52. vz;fs; 15> 25> 40> kw;Wk; 75 My; tFgLk; kpfg;nghpa ehd;F 
,yf;f vz; vd;d? 
A. 9600  B. 3000  C. 9800  D. 8540 
Find the greatest number of 4 digits which is divisible by 15, 25, 40 
and 75 
A. 9600  B. 3000  C. 9800  D. 8540 

 



 

 

MODERN INDIA - GROUP IV 2013 
 

53. fPo;f;fz;ltw;iw nghUj;Jf: 
a. NeU mwpf;if     1. 1940 
b. ,uz;lhtJ tl;lNki[ khehL  2. 1928 
c. jdpegh; rj;ahfpufk;     3. 1946 
d. ml;yp gpuGtpd; mwptpg;G    4. 1931 
   a b c d 
 A.  2 4 1 3  
 B.  4 2 1 3  
 C.   2 4 3 1  
 D.  3 2 1 4  
Match the following:  
 a. Nehru Report     1. 1940 
 b. Second Round Table Conference  2. 1928 
 c. Individual Satyagraha    3. 1946 
 d. Lord Attlee’s Announcement  4. 1931 
   a b c d 
 A.  2 4 1 3  
 B.  4 2 1 3  
 C.   2 4 3 1  
 D.  3 2 1 4 

 
54. gpd;tUtdtw;Ws; jtwhdit vJ / vit? 

I. rh; iraj; mfkJ fhd; mypfhh; ,af;fj;ij top elj;jpdhh;. 
II. rh; iraj; mfkJ fhd; Rj;jp ,af;fj;ij Mjhpj;jhh;. 
III. rh; iraj; mfkJ fhd; Mq;fpNyh-Xhpad;ly; fy;Y}hpia 
Muk;gpj;jhh;.  
A. II kl;Lk;   B. I kw;Wk; II   
C. I kw;Wk; II   D. I, II kw;Wk; III  
Which of the following is/are wrong? 
I. Aligarh movement was led by Sir Syed Ahmed Khan. 
II. Sir Syed Ahmed Khan supported Shuddi movement. 
III. Sir Syed Ahmed Khan started Anglo-oriental college 
A. II only   B. I and II  C. I and III  D. I, II and III  
 

55. gpd;tUtdtw;Ws; vJ rhpahf nghUe;jpAs;sJ? 
A. vl;laGuk;     - fnyf;lh; M~; 
B. [hyped; thyhghf; Jauk;  - `z;lh; fkpl;b 



 

 

C. Rauh[;[pa fl;rp    - B.G. jpyfh;  
D. kJtpyf;F     - t.c.rpjk;gudhh;  
Which one of the following is correctly matched? 
A. Ettayapuram     - Collector Ashe 
B. Jallian Walah Bagh Tragedy  - Hunter Committee 
C. Swaraj Party     - B.G. Tilak 
D. prohibition     - V.O. Chidambaranar 
 

56. ,e;jpa Njrpa czh;T tpopg;gilaf; fhuzkhd fPo;f;fz;ltw;wpd; 
jd;ikiaf; ftdp: 
i. Kf;fpakhf mJ fw;wwpe;Njhuhy; njhlq;fg;gl;lJ. 
ii. Njrpa ,af;fj;jpy; rKjhaj;jpd; midj;J jug;G kf;fSk; 
Mq;fpNyah;fSf;F vjpuhf xUq;fpize;jdh;. 
iii. 1920-w;Fg; gpwF fhe;jpabfs; mjw;F jiyikNaw;W elj;jpdhh;. 
iv. fhe;jpabfs; fpyhgj; ,af;fj;ij Muk;gpj;jhh;.  
NkNy nfhLf;fg;gl;Ls;s $w;Wfspy; rhpahdit vit? 
A. i kw;Wk; (ii)   B. (i), (ii) kw;Wk; (iii) 
C. (i) kw;Wk; (iii)    D. (ii), (iii) kw;Wk; (iv) 
Consider the following statements with reference to the nature of the 
Indian National awakening: 
i. It was basically started by intellectuals. 
ii. It was a movement in which, all sections of society became united 
against the English.  
iii. After 1920, national movement was led by Gandhiji. 
iv. Gandhiji started the Khilafat movement.  
Which of the statements given above is/are correct? 
A. i and ii   B. i, ii and iii  C. i and iii  D. ii, iii and iv 

 
 

57. lhf;lh; Kj;Jnyl;Rkp nul;b mth;fs; Muk;gpj;j Mjutw;Nwhh; 
,yj;jpd; ngah; 
A. ru];tjp ,y;yk;    B. xsit ,y;yk;  
C. md;G ,y;yk;    D. yl;Rkp ,y;yJ 
Dr. Muthulakshmi Reddy started an orphanage known as 
A. Saraswathi Illam   B. Avvai Illam 

C. Aubu Illam    D. Lakshmi Illam  

 
58. nghUj;Jf: 

a. Mf;];l; rYif   1. 1944 
b. C.R. jpl;lk;    2. 1945 



 

 

c. Ntty; jpl;lk;   3. 1946 
d. ,ilf;fhy murhq;fk;  4. 1940 
  a b c d 
A.  4 3 2 1 
B.   3 1 2 4  
C.  4 1 2 3  
D.  1 3 4 2 
Match the following: 
 a. August Offer   1. 1944 
 b. C.R. Formula   2. 1945 
 c. Wavell Plan   3. 1946 
 d. Interim Government  4. 1940 
   a b c d 
  A. 4 3 2 1  
  B. 3 1 2 4  
  C. 4 1 2 3  
  D. 1 3 4 2 

 
59. fPNo cs;stw;iwf; nfhz;L rhpahd tpilasp: 

$w;W (A) : 1910-Mk; Mz;L t.c.rpjk;guk; gps;is RNjrpf; fg;gy; 
fk;ngdpia  
           Jtf;fpdhh;.  
fhuzk; (R) : fg;gNyhl;ba jkpod; vd;W t.c.rpjuk;guk; gps;is  
           miof;fg;gLfpwhh;.  
A. (A) kw;Wk; (R) ,uz;Lk; cz;ik 
B. (A) kw;Wk; (R) ,uz;Lk; cz;ik Mdhy; (A)-Tf;F rhpahd 
tpsf;fk; (R) ,y;iy  
C. (A) cz;ik (R) jtwhdit 
D. (A) jtwhdit (R) cz;ikahdit  
Consider the following statements: 
Assertion (A) : V.O. Chidambaram Pillai established Swadeshi 
Steam  
            Navigation Company is 1910. 
Reason (R)  : V.O. Chidambaram Pillai is called as Kappalottiya 
Tamilan. 
A. Both (A) and (R) are true 
B. Both (A) and (R) are true but (R) is not the correct explanation of 
(A)  
C. (A) is true (R) is false  
D. (A) is false (R) is true  



 

 

  
60. fPo;f;fz;l $w;Wfspy; jtwhdijr; Rl;bf;fhl;lTk;: 

i. t.c.rp. vl;laGuj;jpy; gpwe;jhh;.  
ii. md;dp ngrd;l; gpuk;k Qhd rigiaj; njhlq;fpdhh;.  
iii. ghujpahh; ghz;br;Nrhpapy; kuzkile;jhh;.  
iv. Ra khpahij ,af;fj;ij <.nt.uh. njhlq;fpdhh;. 
A. i, iii kw;Wk; iv    B. ii, iii kw;Wk; iv 
C. i, ii kw;Wk; iv    D. i, ii kw;Wk; iii 
Point out the wrong statement/statements in the following: 
(i) V.O.C. born at Ettayapuram. 
(ii) Annie Besant started Theosophical Society. 
(iii) Bharathiyar died at Pondicherry. 
(iv) E.V.R. started Self-Respect Movement  
A. (i), (iii) and (iv)   B. (ii), (iii) and (iv)  
C. (i), (ii) and (iv)   D. (i), (ii) and (iii)  

 
 

61. gl;bay; I-I gl;bay; II-cld; nghUj;jp fPNo nfhLf;fg;gl;Ls;s 
FwpaPLfisf; nfhz;L rhpahd tpiliaj; Njh;e;njL: 
   gl;bay; I     gl;bay; II 
 a. jj;JtNghjpdp rig   1. n`d;wp tptpad; njNuh[pNah 
 b. ,sk; tq;fhs ,af;fk;  2. tp~;Z rh];jphp gz;bl; 
 c. tpjit kWkz rq;fk;  3. tPNurypq;fk;  
 d. `pjfh;dp rkh[k;   4. NjNte;jpuehj; jh$H 
FwpaPLfs;: 
   a b c d 
  A. 4 1 2 3  
  B. 4 3 2 1  
  C. 3 4 1 2  
  D. 2 1 4 3 
Match List I with List II correctly and select your answer using the 
codes given below: 
   List I     List II 
 a. Tattvabodhini Sabha   1. Henry Vivian Derozio 
 b. Young Bengal Movement  2. Vishnu Sashtri Pandit 
 c. Widow Remarriage Society  3. Veeresalingam  
 d. Hitakarini Samajam   4. Devendranath Tagore 
Codes: 
   a b c d 
  A. 4 1 2 3  



 

 

  B. 4 3 2 1  
  C. 3 4 1 2  
  D. 2 1 4 3 

 
62. thpir I cld; thpir III nghUj;jp thpirfSf;Ff; 

fPo;nfhLf;fg;gl;Ls;s njhFg;gpypUe;J rhpahd tpilia njhpT nra;f: 
   thpir I   thpir II 
 a. gpuk;k rkh[k;   1. Rthkp tpNtfhde;jh;  
 b. Mhpa rkh[k;  2. Nklk; gpsthl;];fp 
 c. uhkfpU~;z kp~d; 3. uh[huhk; Nkhfd;uha; 
 d. gpuk;kQhd rig   4. Rthkp jahde;j ru];tjp  
   a b c d 
  A.  3 4 1 2  
  B. 3 2 1 4  
  C. 4 1 2 3  
  D.   1 3 4 2 
Match List I with List II and select the correct answer using the codes 
given below: 
   List I    List II 
 a. Brahmo Samaj   1. Swami Vivekananda 
 b. Arya Samaj   2. Madama Blavatsky 
 c. Ramakrishna Mission  3. Rajaram Mohan Roy 
 d. Theosophical society  4. Swami Dayanand Saraswathi  
   a b c d 
  A.  3 4 1 2  
  B. 3 2 1 4  
  C. 4 1 2 3  
  D.   1 3 4 2 

 



 

 

OTHER GENERAL KNOWLEDGE - GROUP IV 2013 
 

63. fPo;f;fz;ltw;Ws; jtwhditfs; vit? 
I. ,e;jpa czTg; gpur;rpid jd;ik> czT jhdpaq;fspd; Njit 
mspg;ig rhh;e;jjhFk;.  
II. ,e;jpa czTg; gpur;rpid jd;ik> gfph;T> nghUshjhuk; rhh;e;jJ. 
III. ,e;jpa czTg; gpur;rpid nfhs;Kjy; Kiwia rpwg;ghf 
eilKiwg;gLj;jhNjahFk;.  
IV. ,e;jpahtpd; czTg; gpur;rpid jd;ik epahakhd  gq;fPL 
fpilf;fr; nra;ahjNjahFk;.  
A. I kw;Wk; II jtwhdJ   B. IV kl;Lk; jtwhdJ 
C. III kw;Wk; IV jtwhdJ   D. I kw;Wk; III jtwhdJ 
Consider the following and select the false ones: 
I. India’s food problem is concerned with demand and supply of food 
grains.  
II. India’s food problems is concerned with quality, distribution and 
economic reasons. 
III. India’s food problem’s is concerned with procurement of food 
grains.  
IV. India’s food problem is concerned with improper distribution.  
A. I and II false     B. IV alone false 
C. III and IV false    D. I and III false  

 
64. Nghghy; Jaur; rk;gtk; eilngw;w Mz;L 

A. 1980  B. 1978  C. 1975  D. 1984 

The Bhopal Gas Tragedy happened in  
A. 1980  B. 1978  C. 1975  D. 1984 

 
 

65. rhpahf tpilia Njh;e;njLj;J nghUj;jTk;. 
a. mz;ikapy; ,uhZtg; Gul;rp Vw;gl;lJ    1. gpNu]py;  
b. ];Ndhnld;dpd; Gfypl Nfhhpf;ifia epuhfhpj;jJ  2. ,e;jpah 
c. njhlh;Fz;L ntbg;G epfo;e;j kfhNghjp Myak;  
 cs;s ,lk;         3. 
,q;fpyhe;J 
d. 10 tUlj;jpw;Fg; gpwF Mz;bKh;Nu tpk;gps;ld;  
   gl;lk; ngw;W mth; ehl;bw;Fg; Gfo; Nrh;j;jhh;   4. vfpg;J 
   a b c d 
  A. 4 3 2 1    
  B. 3 1 2 4   



 

 

  C. 2 3 4 1    
  D. 1 2 3 4 
Match the following and choose the right answer: 
a. Recent Military camp took place in    1. Brazil 
b. Snowden’s plea for asylum was rejected by  2. India 
c. Serial Bomb-Blast took place at Mahabhodhi  
    temple is in        3. England 
d. After 10 years Andy Murry brought laurels to 
    his country by becoming Wimbledon Champion 4. Egypt 
   a b c d 
  A. 4 3 2 1    
  B. 3 1 2 4   
  C. 2 3 4 1    
  D. 1 2 3 4 

 
66. G-20 mikg;gpy; ,lk; ngwhj ehL vJ? 

A. mh;n[d;ildh    B. tlf;F Mg;gphpf;fh  
C. nghyptpah     D. vfpg;J 
Which is not the member of G-20? 
A. Argentina    B. North Africa  
C. Bolivia      D. Egypt 

 
67. njhiy Ez;Zh;T tpz;fyq;fis mJ tpz;zpy; nrYj;jg;gl;l 

tUlj;ijf; nfhz;L fPopUe;J Nkyhf mLf;Ff. 
I. I.Mh;.v]; 
II. ];ghl; 
III. biuNah]; 
IV. yhz;l;rhl;  
A. I, II, IV, III  B. III, IV, II, I 
C. I, II, III, IV  D. IV, III, I, II 
Arrange the Remote Sensing Satellites as per year of launching, _____ 
in ascending order. 
I. IRS  
II. SPOT  
III. TRIOS 
IV. LANDSAT 
A. I, II, IV, III  B. III, IV, II, I 

C. I, II, III, IV  D. IV, III, I, II 
 



 

 

68. nghUj;jkw;w ,izia njhpe;njLf;f: 
  caph; Nfhsk;   khepyk;  
I. fhd;fh    - kj;jpa gpuNjrk;  
II. ee;jhNjtp   - cj;juhQ;ry;  
III. khd;];   - mrhk;  
IV. ehk;jhg;gh   - mUzhry gpuNjrk;  
A. I   B. II  C. III   D. IV 
Identify the incorrect pair. 
  Biosphere    States 
  I. Kanha   - Madhya Pradesh 
  II. Nandadevi  - Uttranchal  
  III. Manas   - Assam 
  IV. Namdhapa  - Arunachala Pradesh  
A. I    B. II   C. III   D. IV 
 

69. cr;r ePjpkd;wj;jpd; Kjy; ngz; ePjpgjp ahh;? 
A. md;dh rhd;b   B. tp[anyl;Rkp gz;bl; 
C. ,e;jpuhfhe;jp    D. ghj;jpkh gPtp 
Who was the first woman judge of the Supreme Court? 
A. Hanna Chandy   B. Vijayalakshmi Pandit  
C. Indira Gandhi   D. Fathima Beevi  

 
70. nghUj;Jf: 

  gl;bay; I    gl;bay; II 
 a. Me;jpuh    1. gujehl;bak;  
 b. Nfush    2. Fr;rpg;Gb 
 c. jkpo;ehL   3. ghq;uh 
 d. gQ;rhg;    4. fjfsp  
FwpaPL: 
  a b c. d 
A.   1 2 3 4  
B.  3 1 4 2  
C.  2 4 1 3  
D.  4 2 3 1  
Match:  
   List I    List II 
 a. Andhra    1. Bharathanatyam 
 b. Kerala    2. Kuchipudi  
 c. Tamil Nadu   3. Bangra 
 d. Punjab    4. Kathakali 



 

 

Codes: 
   a b c d 
  A. 1 2 3 4 
  B. 3 1 4 2  
  C. 2 4 1 3  
  D. 4 2 3 1  

 
 

71. cyf ehLfis> mnkhpf;f csT epWtdk;> ufrpakhf kpd;dD 
%yk; fz;fhzpj;jij cyfpw;F ntspg;gLj;jpa mnkhpf;f cz;ik 
tpsk;gp 
A. [Pypad; m];]hNd[;   B. lhdpay; g;h;]; 
C. vl;th;l; ];Ndhld;   D. ikf; ilrd; 
Who is the Whistle Blower, who brought the secret of American 
Intelligence, doing the Global Electronic Surveillance on other 
nations, to the world? 
A. Julian Assanage    B. Daniel Pearl  
C. Edward Snowden    D. Mike Tises 

 
72. 2011-Mk; Mz;L If;fpa ehLfs; rigapy; cWg;gpduhf Nrh;e;j ehL 

vJ? 
A. fpof;F ij%h;    B. khz;bepf;Nuh 
C. njw;F #lhd;    D. nrh;gpah  
Which country became a member of the U.N.O. in the year 2011? 
A. East Timor    B. Montenegro 
C. South Sudan   D. Serbia 

 
73. ,tw;Ws; vJ BRIC Njrq;fspd; mq;fk; ,y;iy? 

A. rpyp   B. gpNurpy;  C. rPdh  D. ,e;jpah 
Which of these is not among the BRIC Nations? 
A. Chile   B. Brazil   C. China   D. India 
 

74. cyfpd; mjpNtfkhd #g;gh; fk;gpA+l;lh; [_d; 19> 2012-y; 
mwptpf;fg;gl;ljpd; ngah; ahJ? 
A. HCL   B. nrFNthbah C. ,d;nly;  D. nyNdhth 
The name of World’s fastest Super Computer, announded on June 19, 
2012 is 
A. HCL   B. Sequdia  C. Intel   D. Lenova 
  

75. “,e;J tsh;r;rp tPjk;” vd;W ngahpl;lth; ahh;? 



 

 

A. jd;Nlfh; kw;Wk; ,uhj;   B. ,uh[; fpU~;zd; 
C. P.D. x[h    D. B.S. kpd;fh];  
Who gave the name “Hindu rate of growth”? 
A. Dandekar and Rath    B. Raj Krishnan 

C. P.D. Ojha    D. B.S. Minhas  
 

76. gpd;tUk; ehLfs; 2012 ,yz;ldpy; eilg;ngw;w xypk;gpf;fpy; ngw;w 
nkly; vz;zpf;ifapd; mbg;gilapy; ,wq;F thpirapy; vOJ. 
I. gphpl;ld;  
II. u~;ah 
III. rPdh 
IV. mnkhpf;fh  
A. I, III, II, IV   B. IV, III, I, II C. IV, II, I, III  D. IV, I, III, 
II 
 Arrange the following countries based on the number of medals won 
in London Olympics 2012 in descending order.  
I. Britain 
II. Russia 
III. China 
IV. America 
A. I, III, II, IV B. IV, III, I, II C. IV, II, I, III  D. IV, I, III, II 

 



 

 

PHYSICS - GROUP IV 2013 
 

77. $w;W (A): Gaypd;NghJ miyfspd; cauj;ijf; Fiwf;f fg;giyr; 
Rw;wp  
           vz;nza; Cw;wg;gLfpwJ.  
  fhuzk; (R): vz;nzapd; gug;G ,Otpir fly; ePhpd; gug;G 
,Otpiria  
            tplf; FiwT. miyapd; rPw;wj;ijf; Fiwf;Fk;.  
A. A rhp R jtW    B. A kw;Wk; R rhp  
C. R rhp A jtW    D. A kw;Wk; R ,uz;Lk; jtW  
Assertion (A): To reduce the high tides of sea during storm oil is 
poured  
                           around the ship. 
Reason (R): Surface tension of oil is less then sea water, reduces the 
wrath of waves.  
A. A is correct R is wrong   B. Both A and R are correct  
C. R is correct A is wrong   D. Both A and R are wrong 

 
78. gpd;tUtdtw;Ws; vjpy; kpd;D}l;lq;fSf;fpilNa czug;gLk; 

tpyf;F kw;Wk; <h;g;G tpir gad;gLfpwJ? 
A. A.C. kpd;dpaw;wp    B. epiykpd; tz;zk; njspj;jy;  
C. kpd;dOj;jkhdp    D. kPl;lh; rkdr;Rw;W  
The property of attraction or repulsion between charged bodies is 
used in 
A. A.C. Generator    B. Electrostatic paint Spraying 
C. Potentiometer    D. Metre Bridge 
 

79. ,uz;L jdp Crypd; miyT fhyk; 2 : 1 vd;w tpfpjj;jpYs;sJ. 
mitfspd; ePsj;jpw;fhd tpfpjk; KiwNa 
A. 4 : 1   B. 1 : 4   C. 1 : 1   D. 1 : 2 
The time periods of two simple pendulum are in the ratio 2 : 1. The 
corresponding ratio of their lengths is  
A. 4 : 1   B. 1 : 4   C. 1 : 1   D. 1 : 2 

 
 



 

 

CHEMISTRY - GROUP IV 2013 
 

80. ngd;rpypy; cs;s vOJk; nghUspd; fyit 
A. fhh;gd; kw;Wk; iel;u[d;   B. fhh;gd; kw;Wk; Mf;]p[d;  
C. fhh;gd; kw;Wk; fspkz;   D. fhh;gd; kw;Wk; fz;zhb 
The mixture present in the pencil lead is 
A. Carbon and Nitrogen   B. Cabon and Oxyen 
C. Carbon and Clay    D. Carbon and Glass 
 

81. ‘mkpyk;’ gw;wpa fPo;f;fz;l $w;Wfspy; rhpahdit vit? 
I. mJ ePy ypl;k]; jhis rptg;ghf khw;Wk;. 
II. mJ 7-I tpl mjpfkhd pH kjpg;G cilaJ. 
III. mJ fhuj;Jld; tpidGhpe;J cg;igAk; ePiuAk; jUfpd;wd.  
A. I kw;Wk; II  B. I kw;Wk; III  C. II kw;Wk; III  D. III kl;Lk;  
Which of the following statement(s) about ‘acid’ is TRUE? 
I. It turns blue litmus paper to red. 
II. It has pH value greater than 7. 
III. It reacts with bases to give salt and water. 
A. I and II  B. I and III  C. II and III  D. III only  

 



 

 

TAMIL LITERATURE - GROUP IV 2013 
 

82. ‘mf;dp rpwFfs;’ vd;w Gj;jfj;ij vOjpath; 
A. NeU     B. A.P.J. mg;Jy; fyhk;  
C. fhkuh[;    D. kfhj;kh fhe;jp  
The books ‘Wings of Fire’ was written by 
A. Nehru     B. A.P.J. Abdul Kalam  

C. Kamaraj    D. Mahatma Gandhi 

 
83. gphpT I-apypUe;J gphpT II-I nghUj;Jf: 

  gphpT I    gphpT II 
  (E}y;fs;)   (Mrphpah;fs;) 
a. nfhd;iw Nte;jd;   1. khA+uk; Ntjehafk;  
b. ePjpnewp tpsf;fk;   2. rptgpufhrh;  
c. ed;ndwp    3. mt;itahh;  
d. ePjp E}y;    4. FkuFUguh;  
  a b c d 
A.  2 3 4 1 
B.   3 4 2 1  
C.  3 2 1 4  
D.  2 3 1 4 
Match the following with suitable options: 
   List I    List II 
   (Works)   (Authors) 
a. Kondrai Venthan   1. Mayuram Vedanayagam 
b. Neethineri Vilakkam 2. Sivaprakasar 
c. Nanneri     3. Avvaiyar 
d. Neethi Nool   4. Kamaragurubarar 
  a b c d 
A.  2 3 4 1  
B.  3 4 2 1  
C.  3 2 1 4  
D.  2 3 1 4  

 



 

 

ZOOLOGY - GROUP IV 2013 
 

84. nfhLf;fg;gl;Ls;s gl;j;jpy; Fwpf;fg;gl;Ls;s ghfq;fspd; rhpahd 
thpiriaj; Njh;e;njLf;fTk;. 
A. (1) b.A.rp. tisak;  (2) vjph;Nfhlhd; tisak; (3) b.vr;.A. 
tisak;  
B. (1) vjph;Nfhlhd; tisak; (2) b.A.rp. tisak;   (3) b.vr;.A. 
tisak 
C. (1) b.A.rp. tisak;  (2) b.vr;.A. tisak;  (3) vjph;Nfhlhd; 
tisak; 
D. (1) b.vr;.A. tisak; (2) vjph;Nfhlhd; tisak;  (3) b.A.rp. 
tisak; 
Choose the correct order of the parts marked in the diagram.  
A. (1) TUC loop   (2) Anticodon loop   (3) DHU loop  
B. (1) Anticodon loop (2) TUC loop   (3) DHU loop 
C. (1) TUC loop   (2) DHU loop   (3) Anticodon 
loop 
D. (1) DHU loop   (2) Anticodon loop   (3) TUC loop 

 
85. fPo;f;fhZk; thf;fpaq;fis Ma;f. mtw;Ws; rhpahdij Njh;T 

nra;f: 
thy; kPd;fspy; thy; gFjp vg;nghOJ Njhd;whJ? 
I. mit #hpaid tpl;L njhiytpy; ,Uf;Fk; nghOJ 
II. mit #hpaDf;F mUfpy; ,Uf;Fk; nghOJ  
III. mit G+kpf;Fk; mUfpy; ,Uf;Fk; nghOJ 
IV. mit G+kpf;Fk;> #hpaDf;Fk; ,ilapy; ,Uf;Fk; nghOJ 
A. I, II, III kw;Wk; IV jtW 
B. I rhpahdJ II, III kw;Wk; IV jtW 
C. I jtW Mdhy; II, III, IV rhp  
D. I, II, III kw;Wk; IV rhp  
Consider the following statements.Choose the correct answer. 
“Comets have no tail”. 
1. when they are far away from the sun. 
II.when they are close to the sun. 
III. when they are close to the earth. 
IV. when they are in between the earth and the sun.  
A. I, II, III and IV are wrong B. I is correct but II, III and IV are 
wrong 
C. I is wrong but II, III and IV are correct 
D. I, II, III and IV are correct 



 

 

 
 

86. fPo;fz;l thf;fpaq;fisf; ftdp:  
i. Vl;hpNah ntd;bhpFyhh; thy;Tfs; %Ltjhy; “yg;” vd;w xyp 
Njhd;WfpwJ.  
ii. miur; re;jpu thy;Tfs; %Ltjhy; “lg;” vd;w xyp Njhd;WfpwJ.  
rhpahd tpiliaj; Njh;e;njLf;fTk; 
A. i rhp ii jtW    B. i jtW ii rhp  
C. i kw;Wk; ii jtW   D. i kw;Wk; ii rhp  
Consider the following statements: 
(i) The closure of Atrio ventricular valves result in “lubb” sound. 
(ii) The closure of semilunar valves result in “dubb” sound. 
Choose the right answer: 
A. (i) is correct and (ii) is wrong  
B. (i) is wrong and (ii) is correct  
C. Both (i) and (ii) are wrong 
D. Both (i) and (ii) are correct  
 

87. ,uj;jk; ciwjYf;F mtrpakhd itl;lkpd; kw;Wk; jhJ cg;ig 
(jdpkj;ij) ngahpL 
A. itl;lkpd; D kw;Wk; fhy;rpak;  
B. itl;lkpd; B kw;Wk; Nrhbak;  
C. itl;lkpd; K kw;Wk; fhy;rpak;   
D. itl;lkpd; C kw;Wk; mNahbd;  
Name the vitamin and mineral necessary for blood clotting  
A. Vitamin D and Calcium   B. Vitamin B and Sodium  
C. Vitamin K and Calcium   D. Vitamin C and Iodine 

 
88. gl;bay; I-I gl;bay; II-d; rhpahf nghUj;jp tpilia Njh;e;njL: 

   gl;bay; I   gl;bay; II 
 a. &Nkl;bf; %l;L typ  1. guTk; njhw;W Neha; 
 b. ngy;yf;uh    2. Ra Neha;j; jLg;G FiwghL 
Neha; 
 c. fhyuh     3. ghuk;ghpa Neha; 
 d. fjph; mhpths; ,uj;jNrhif 4. itl;lkpd; Fiwtpdhy; 
cz;lhFk; Neha; 
  a b c d 
A.  3 1 2 4  
B.  2 4 1 3  
C.  2 1 4 3  



 

 

D.  3 4 2 1  
Match the List I with List II and select the correctly matched answer: 
  List I     List II  
a. Rheumatic arthritis   1. Contageous disease 
b. Pellagra     2. Auto immune disease  
c. Cholera    3. Hereditary disease 
d. Sickle cell anaemia  4. Vitamin deficiency disease 
  a b c d 
A.  3 1 2 4  
B.  2 4 1 3  
C.  2 1 4 3  
D.  3 4 2 1 

 
89. gpd;tUtdtw;Ws; vJ EMP topj;jlk; vdTk; miof;fg;gLk;? 

A. fpisfhyp]p];   B. fpNug; Row;rp 
C. vyf;l;uhd; flj;jy; rq;fpyp D. ngd;Nlh]; gh];Ngl; topj;jlk;  
Which of the following is referred to as EMP pathway? 
A. Glycolysis     B. Kreb’s Cycle 
C. Electron transport chain   D. Pentose phosphate pathway  
 

90. fPo;fz;l thf;fpaq;fisf; ftdp: 
$w;W (A)  : G+r;Rz;Zk; jhtuk; G+r;rpfspd; clypy; cs;s 
GNuhl;Bd;fis  
           nrhpf;fpd;wd.  
fhuzk; (R) : G+r;Rz;Zk; jhtuk; iel;u[d; gw;whf;Fiw cs;s 
kz;zpy; tsUk;. 
fPo; Fwpg;gplg;gl;Ls;s FwpaPl;by; rhpahd tpiliaj; Njh;e;njL: 
A. (A) rhp Mdhy; (R), (A) –tpw;F rhpahd tpsf;fky;y 
B. (A) kw;Wk; (R) ,uz;Lk; rhp> NkYk; R vd;gJ A –tpw;F rhpahd 
tpsf;fk;  
C. A rhp Mdhy; R jtW 
D. A kw;Wk; R ,uz;Lk; jtW  
Consider the following statements: 
Assertion (A) : Insectivorous plants digest proteins of insect body. 
Reason (R)  : Insectivorous plants grown in Nitrogen (N2) 
deficient soil. 
Select your answer according to the coding scheme given below: 
A. (A) is true but (R) does not explains (A) 
B. Both (A) and (R) and true, (R) explains (A) 
C. (A) is true (R) is false  



 

 

D. Both (A) and (R) are false  

 



 

 

POLITY - GROUP IV 2013 
 

91. ,e;jpahtpd; FbauRj; jiyth;fis> mth;fspd; gjtpf;fhy 
mbg;gilapy; thpirg;gLj;Jf: 
I. Mh;. ntq;fl;uhkd;  
II. lhf;lh; rq;fh; jahs; rh;kh 
III. lhf;lh; Nf.Mh;. ehuhazd; 
IV. lhf;lh; V.gp.N[. mg;Jy; fyhk;  
A. I, II, III, IV    B. III, IV, I, II 
C. III, I, II, IV   D. III, II, I, IV 
Arrange the Presidents of India in chronological order of their term 
in Office.  
I. Re. Venkatraman  
II. Dr. Sankar Dayal Sharma 
III. Dr. K.R. Narayanan  
IV. Dr. A.P.J. Abdul Kalam  
A. I, II, III, IV    B. III, IV, I, II 
C. III, I, II, IV   D. III, II, I, IV 

 
 

92. ve;j murpayikg;G rl;lk; FbauR jiytUf;F ghuhSkd;wj;jpd; 
fPo; mitia fiyf;f mjpfhuk; mspf;fpwJ? 
A. tpjp 85   B. tpjp 95  C. tpjp 81  D. tpjp 75 
Which article empowers the President to dissolve the Lok Sabha at 
any time before its tenure? 
A. Art 85   B. Art 95  C. Art 81  D. Art 75 

 
93. murpay; eph;za rigapd; Kjy; $l;lk; eilngw;w Mz;L 

A. 1950  B. 1946  C. 1948  D. 1947 
The first meeting of the Constituent Assembly of India was held in 
A. 1950  B.1946  C. 1948   D.1947 
 

94. fPo;f;fz;l thf;fpaq;fis ftdp: 
$w;W (A) : kj;jpa Gydha;T Mz;L mwpf;ifia FbauR jiyth; 
rkh;gpg;ghh;. 
fhuzk; (R) : ,uz;L mitf;Fk; Nyhf; rgh> ,uh[;a rghtpw;Fk; 
mDg;gp  
          itg;ghh;. 
,tw;Ws; vJ rhp vd jPh;khdpf;fTk; 
A. (A) kw;Wk; (R) ,uz;Lk; rhp  B. (A) kw;Wk; (R) ,uz;Lk; jtW 
C. (A) jtW Mdhy; (R) rhp  D. (A) rhp Mdhy; (R) jtW  



 

 

Consider the following statements: 
Assertion (A): The CVC has to present annually to the President a 
report on its performance. 
Reason (R): The president places this report before’both House of 
Parliament. 
Select your answer according to the coding scheme given below. 
A. Both (A) and (R) are correct 
B. Both (A) and (R) are false 
C. (A) is false but (R) is true 
D. (A) is true but (R) is false  

 
95. khepyq;fspy; [dhjpgjp Ml;rpia Vw;gLj;j ghpe;Jiu nra;Ak; tpjp  

A. tpjp 354   B. tpjp 355  C. tpjp 356  D. tpjp 257 
Which article of the constitution provides for the imposition of 
President’s rule in the states? 
A. Article 354  B. Article 355 C. Article 356 D. Article 
357 

 
96. fpo;fz;l thf;fpaq;fis ftdp: 

$w;W (A) : eph;thf rPh;jpUj;j Mizak;jhd; Nyhf;ghy; kw;Wk; 
Nyhf;af;jhAf;  
        Vw;gLj;jpaJ.  

fhuzk; (R) : 1. ,J Rje;jpukhf nray;gLfpwJ.  
    2. ,jpy; murpay; rhujth;fs; cs;sdh; 
,tw;Ws; vJ rhp vd jPh;khdpf;fTk;  
A. A kw;Wk; R ,uz;Lk; jtW   B. A kw;Wk; R ,uz;Lk; rhp  
C. A jtW Mdhy; R rhp    D. A rhp Mdhy; R jtW 
Consider the following statements: 
Assertion (A): The (ARC) recommended that the institution of Lokpal 
and  
                          Lokayakta. 
Rasson (R)  : 1. should be demonstratively Independent and 
Impartial. 
     2. their appointment should be as far as possible non – 
Political  
Select your answer according to the coding scheme given below: 
A. Both (A) and (R) are false  
B. Both (A) and  (R) is correct  
C. (A) is false but (R) is true  
D. (A) is true but (R) is false 



 

 

 
97. nrd;id khepyk; ‘jkpo;ehL’ vd mz;zh ngah; khw;wk; nra;j 

Mz;L 
A. 1957   B. 1977   C. 1969   D. 1947 
Anna changed, the official name of the state from ‘Madras’ to Tamil 
Nadu in  
A. 1957   B. 1977   C. 1969   D. 1947 

 
 

98. fPo;fz;l fUj;Jf;fspy; jtwhdij Rl;bf;fhl;L: 
I. Njrpa kpUfk;   - Gyp  
II. Njrpa gwit  - kapy;  
III. Njrpa G+  - Nuh[h 
IV. Njrpa gok;   - khk;gok;  
A. I    B. II   C. III    D. IV  
Point out the wrong statement in the following: 
I. National Animal   - Tiger 
II. National Bird   - Peacock 
III. National Flower   - Rose  
IV. National Fruit   - Mango  
A. I    B. II   C. III    D. IV  

 
99. ghuhSkd;wj;jpd; $l;L mkuit ($l;lj;ij) elj;JtJ ahh;? 

A. FbauR jiyth;    B. Jiz FbauR jiyth;  
C. rghehafh;     D. gpujk ke;jphp  
Who presides over the joint sessions of the Parliament? 
A. The President     B. The Vice-President  
C. The Speaker     D. The Prime Minister  
 

100. Njrpa Nkk;ghl;L FO ve;j Mz;L cUthf;fg;gl;lJ? 
A. 1952  B. 1955  C. 1959  D. 1962 
The National Development Council was established in the year 
A. 1952  B. 1955  C. 1959  D. 1962 

 

 


